TEXEAREERELE—ER

SH6ESAIRIRTE
NEEE
KB (Ko ARAL. B, M)
— RS H=MREE
) ) ) He A2 ~ 0] 104,001 123,001 139,001 158,001 186,001
h £ iR 54 #E | BT |ILA-4 AR M OE Y 1) ErEIG | @R | BE | #E S § S § § §
104,000 | 123,000 | 139,000 | 158,000 | 186,000 | 214,000

EBIEIE(2) 306 3 ifit5 | S53 — O 3DK(6+6+4.5-DK) O — Kie | #X | TH 14,000 16,200 18,500 20,900 23,900 27,600
FIEE R11 401 4 it | S51 — @) 3DK(6+6+4+DK) @) — Kie | #=X | TH 13,800 15,900 18,200 20,500 23,400 27,100
KN X% 1 — | K&2| H15 — — 3LDK(7.5:6+6+LDK) @) — Kk | FKX | 2H 18,800 21,700 24,800 28,000 32,000 36,900
=) 55 — = | s48 — @) 3K(6:645:K) @) — Kk | #X | 2H 7,700 8,900 10,100 11,400 13,100 14,600
HmERE— 7 — = S60 — (@) 3DK(6+6+4.5-DK) (@] — Kk | FX | 2H 15,200 17,600 20,100 22,700 26,000 30,000
BrE R2 201 2 i3 | H22 O (@) 1DK (6+DK) @) @) Kk | #EKX | 2 16,800 19,400 22,200 25,000 28,600 33,000
XEEZ 5 — K2 | H10 — — 3DK(6+6+3-DK) O — Kk | FEHX | 2dt 21,200 24,400 27,900 31,500 36,000 41,600
XEE= 401 4 ifif4 | H15 (@] (@) 3LDK(5+5+4.5-LDK) O — Kk | #EX | 2 22,400 25,900 29,600 33,400 38,200 44,000
AFRE 16 — | REF| Hi6 — O 2L DK (6-6-LDK) (@] — Kk | EHX | 2t 19,700 22,800 26,000 29,400 33,600 38,700

¥ KAIRIE. TVOREEICONT, BARICTRHERI:ZEL,

I7AVRER. EROBECRYMTHEFICHIRNHYET O T, FANIEEBERBRAEHZEL, ARER T THLEREL T,
OERHEEDNZMILEBIETT .

ORRAAEHLINSA L, FHSELSDIRAN DM HLD (RRHMINELE) ERFSL TS,




